EE 207-03 — Winter 2012(112)
Quiz 1
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For the function f{?) (signal) shown above , expand the function in terms of
singularity functions ?

(I) If the input X(7) and output put Y(t) for a system is described as
y@)=x(\t)

Is the system

(a) Linear ? explain 7

(b) Causal ? explain ?

(¢) Time invariance ? explain ?
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For the function (signal) shown above , expand the function in terms of
singularity functions ?

(II) If the input X(?) and output put y( ?) for a system is described as

y)=x@")

Is the system

(a) Linear ? explain ?

(b) Causal ? explain ?

(¢) Time invariance ? explain ?
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